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B (600) Algi%l & : (610) Hoiwol Mg (611) NBESO = @ (01) 188 (EH9) : &)
2= o & oS E = s g S -
z | & (M = of & o4y = -
8t H 61,000,000| 56,900.000| 4,100,000
i(é#(ﬂ 44,534,432 | 43,169,710| 1,364,722
g;¢g 44,534,432 | 43.169.710| 1,364,722
ilj‘éﬁgﬂ 44,534,432 43,169,710 1,364,722
81@% 20,459,578| 19,842,672 616.906
OJHE 2R3 0,631,124 x6142x 128 = 19,386,121
O PP HAUQ (=43,3387) 1,073,457
— D=13mm 7802/x38,679% x 128 = 362,035
— D=20mm 3,180 x 1,011 M x 128 = 38,579
— D=25mm 4,990 x2,241F x 128 = 134,191
— D=32mm 9,870 x 496 % x 128 = 58,746
— D=40mm 14,8402 x 426 % x 128 = 75.862
— D=50mm 22,6309 x 2528 x 128 = 68,433
— D=75mm 57,7709 x66% x 128 = 45,753
— D=80mm 50,9409 x 23% x 128 = 16,543
— D=100mm 95,9502 x 758 x 128 = 86,355




(611) MBE=

Ol

Jo

=

— D=150mm 201,780 x558 x 128 = 133,174
— D=200mm 283,660& x98 x12& = 30,635
— D=250mm 348,440 x38 x 128 = 12,543
— D=300mm 442,020@ x2M8 x 128 = 10,608
O LerE AE 1,418,000m x1,130& x 128 = 19,228,080
O 73E FHRI(=19,159H) 823,492
— D=13mm 780& x11,1708 x 128 = 104,551
— D=20mm 3,180&x3,6678x12& = 139,932
— D=25mm 4,990 x3,0078 x 128 = 180,059
— D=32mm 9,870& x3958 x 128 = 46,783
— D=40mm 14,8403 x383& x 128 = 68,204
— D=50mm 22,6303 %3338 x 128 = 90,429
— D=75mm 57,7703 x678x12& = 46,447
— D=80mm 59,9403 x998 x 128 = 71,208
— D=100mm 95,9503 x21 8 x12& = 24,179




(610) o1 Mgt : (611) AlBES 2l : &)
ol & o z 2z S
g
— D=150mm 201,780 x9M x12& = 21,792
— D=200mm 283,6603 x6& x12& = 20,423
— D=250mm 348,440 x1 8 x 128 = 4,181
— D=300mm 442,020 x 18 x 128 = 5,304
2,101,256 46,415
OU=EE MNERS 150,667m x 1,141 x 128 = 2,062,932
O FZE ddes 38,324
— D=13mm 7803 x48 x 128 = 37
— D=20mm 3,180 x2Mx12& = 76
— D=25mm 4,990 x3& x 128 = 179
— D=32mm 9,870 x 158 x12& = 1,776
— D=40mm 14,8403 X548 x 128 = 9,616
— D=50mm 22,630& X398 x12& = 10,590
— D=75mm 57,7703 X668 x12& = 4,159
— D=80mm 59,9403 x 78 x 128 = 5,034
— D=100mm 95,9503 x3Mx12& = 3,454
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— D=200mm

283,660 x18x128 =

3,403
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— D=32mm

— D=40mm

— D=50mm

— D=75mm

— D=80mm

— D=100mm

— D=150mm

— D=200mm

278,652m x5503 x 128 =

780 x38 x128 =

3,180 x6M x 128 =

4,990 x 158 x 128 =

9,870 x5& x12&

14,840 x 118 x 128

22,6303 x298 x12&

57,7703 %278 x 128 =

59,9403 x 198 x 128 =

95,9502 x9& x12& =

201,780 x9&8 x 128 =

283,660 x28 x 128 =

1,839,103

82,923

28

228

898

592

1,958

7,875

18,717

13,666

10,362

21,792

6,807




(610) Yeiol HE : (612) B BT AR ol : @)
— ol & o S om| B2 %
2,758,560 2,629,690 128,870
2,758,560 2,629,690 128,870
2,726,880 2,597,050 129,830
2,536,880 2,472,050 64,830
O SXI=(=1,380N) 1,491,680
—D=13mm 871,000% x900H 783,900
— D=20mm 1,124,000& x250& = 281,000
— D=25mm 1,283,000& x 150%™ 192,450
— D=32mm 1,699,000& x40H = 67,960
— D=40mm 3,606,000& x25& 90,150
— D=50mm 4,372,000& x10& = 43,720
— D=75mm0O] &t 6,500,000& x5& 32,500
O 8% X<9(=1,200H) 1,045,200
—FAEZ 3 S 871,000& x1,200& = 1,045,200
~ol 190,000 125,000 65,000
O X9 (D=13~75mm) 1,000,000& x150& 150,000
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(610) =2 Mg (612) S-Bi=3 A= =

- g 2o 52 & & I =
O 8% X<Y¥(D=13~50mm) 500,000& x80H& = 40,000
31,680 32,640 A 960
31,680 32,640 A 960
O Z3x=SA2E =7 17,280
-S4 17,280
°32A 25mmItAl 12,000% x1,320MICH = 15,840
° 2 32mmol At 24,0003 xB60AMICH = 1,440
—sHX4g 12,000& x1,200MICH = 14,400
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St @A ]
600 ) AbH =2l & . (670) HA%< Mgt (671) Ol K=< 2 : (01) 20IAE= (& - &)
e
e of A oM 8 6 & = 2t At = 7| =
k"%l- = () 0:" Ab OH =) a (] = g
750,135 765,660  ~ 15,525
SWMm 750,135 765,660| A 15,525
671 150,000 200,000| A 50,000
MPEST ’ : :
=011 150,000 200,000| A 50,000
O ZIIZ0IR 150,000,000% = 150,000
O mem o 600.135| 565,660 34,475
gfguq S| E2 200,823 177,496 23,327
OBIAZAIRE +EHL 248 £00,823,000% = 200,823
03 336,312 328,164 8,148
0 , , ,

e AXES

96,000,000& = 96,000

O &AL AT AIEE (FMsS 6.840,000& = 6,840

OJIx=3X 4T AEE (FLSXI 192,720,000& = 192,720
O SXAE(oLZHHR!) LAX A=EABS(C =X

6,372,000& = 6,372

O GESTIANELAR 4= AZ2(0HEIIED) 1,300,000& = 1,300
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(100) K242 (170) H2dos+2 NE& : (171) AIE2E2+¢ =
8912,200| 7,780,000 1,132,200
ol0im e 8,912,200| 7,780,000 1,132,200
Nhooome 4,500,000 3,800,000 700,000
2§$gg¢g 4,500,000 3,800,000 700,000
O IR B2
—jolgan 4,000,000,0008 =
— OIIIEXI 2 500,000,000
;; s x o 4,412,200| 3,980,000 432,200
A 4,170,000 3,845,000 325,000
O BN NALE HXIBA 1,740,000,0002
O 1, IS NLALE &K ZA 750,000,000
O BY ABACIT] BYES HEBA 1,680,000,0002
T 242,200 135,000 107,200
O BN NLALE HXIBA 131,000,0008! =
O 1, IS NBALT ST B A 56,000,0008! =
O 52 HUI(BA) A 30,000,000




[ 4220 ]

25,200

9l =

(@]
(@]
(e}
o
(@]
[a\]
)
(e}
¥
m
il
<
<
H
il
o
4
5
<
=
O
A0
Klo
)
<
RS
al
<
S
or
or
=
00
=
00
7l




[ Al DL ]
2t (900) 0|22 (910) 012 Mg (911) 0I%=2 (01) 012 (&2« =)
=
o & u|S 8 S| B2 & 8 I =
EIE = Ab ol
g(ﬁ%: 3.933.421| 2.493688| 1,439.733
910
- 300,000 300,000 0
g:;g 300,000 300,000 0
8:¢g 300,000 300,000 0
O DT 227} 042 300,000.0002 = 300,000
(9)'2%: 3.633.421| 2.193.688|  1.439,733
%%: 3.633.421| 2.193.688|  1.439,733
02
O eoia 3.633.421| 2.193.688| 1.439,733
O &HH20Z 3.633.421.0002 = 3,633,421




